
WORKSHEET 1 
Name: Teacher's signature: 

Class Date: 

A. Tick ()the correct option. 
1. 2 cm 9 mm mm 

209 
3 kg S00 g 

b. 29 nmm 
c. 290 mm 

kg 
a 3500 kg e. 3050 kg b. 3.5 kg 

3. 9L-. 
mL 

9000 b. 900 c. 90 

4. 3 km 228 m= km 

a. 3.228 
b. 32288 c. 32280 

S. 7L125 mL L 

a. 7.125 b. 71.25 c. 71.2550 

B. Add. 

1. 30 m 23 cm + 80 m 72 cm 2. 15 kg 100 g + 1 kg 250 g + 55 g 
3. 7 km 450 m +21 km 110 m 4. 1L 995 mL + 4 L 225 mL 

C. Subtract. 

1. 19 m 30 cm -2 m 10 cmn 2 25 km 500 m -7 km 499 m 

3. 20 kg 250 g- 7 kg 250 g 4.8L 266 mL -3L 300 mLL 

D. Solve. 

1. A bus covers 120 km in 3 hours. What is its speed?2 

2. The capacity of a water tank is 5L 500 mL. How much water can 6 such tanks hold? 
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